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gg&eﬁ% 85 0.3 0.002 17
gg&%% 86 0.5 0.004 3.7
ggggffg 103 0.2 0.003 2.8
gggﬁg 102 0.1 0.002 13
(‘Eg 12 §§§ 19 0.2 0.002 2.0
égg 13 fﬁfﬁg 21 0.2 0.002 2.0
g:zug T f&fﬁg 22 0.2 <0.001 <10
F_Eg? 35&5% 21 0.1 <0.001 <10
F_Eg? f&fﬁg 22 0.2 <0.001 <10
gg 12 gfﬁfﬁg 22 02 <0.001 <10
égg gfﬁfﬁg 22 0.1 <0.001 <10
égg 795555 2 <01 <0.001 <10
égf gfﬁfﬁg 22 0.1 <0.001 <10
qu;—ggﬁg) 23 0.1 0.001 17
(;j\gg%ﬁ%) 21 <01 <0.001 1.0
(2%0*5??%@ 22 <01 <0.001 <10
(z%o*gg?gg) 21 0.1 <0.001 1.0
(z%gggﬁgg) 21 <01 <0.001 1.0
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